THM3FE6 ADFHILBERITE]

- P = <C
EAEEE | FREME | HIESIFEMEE

HEEE)IMEE - 25454 —= _mn

6.1 KSR IETE 45,000,000( (#k) 78 =& 1% 46,380,000 42,067,000 1%
R—rL—RXBBEA R () Bk iE T o

6.3 e ey et 36,800,000 b 39,900,000 36,213,000 i 2

6.4 |SMSERBHIETISE - N - -
BRERTERLENKE BT/ AT Ls e

6.4 ST H 6,470,000 (k) 6,930,000 6,193,000 #54
SN ERE RS R = e

6.4 e 6,072,000 (#k) EfH T3 6,600,000 5912,000( #E4&
KEREESZETS5HMm o

6.7 e B RS TE 55,100,000 () X T#/E 60,400,000 54,472,000 %
HEWIET 288K .

57 |gas TS - T - -

6.8 ROYNERREHRE 2,610,000( (#k) EfH T3 2,810,000 2,497,000 ¥4
HIE

6.9 |BfIdtHEREHIEISE 51,380,000( (#k) Kk % 53,684,000 47,081,000 —H%

6.11 [T REBHIELSE - iR - -
KEREESETS5HMm

6.11 [EHHERURESELS 57,570,000 T ¥R 5% fis T3 (#k) 61,690,000 56,024,000 —#%
D ILHWEIBELS

6.15 |/\IBEHE TE 44,000,000| (#) t2E#H 44,928,000 39,343,000 —f%

6.21 |[REFABEKREHRISE 17,680,000| (%) EH I E 18,450,000 16,547,000 354
INBIABEEN LR SE . e

6.22 A T 2,220,000| (&) /A&l T 2,390,000 2,134,000 %64

6.23 AT S EEE R 106,712,480| (%) KIRE & 110,500,000 100,806,000 —fi%

HETE




BAEEE R RERE

624 |7 42,900,000| & T (%k) 44,570,000 40,092,000 —#g
EIRERINGERINT D TR— e

6.24 AL E TE 15,640,000 B 2 (#%) 17,815,000 15,626,000 54
Z 2N 2 L ok

6.28 g’ﬁﬁ#‘/ TEFREHT 45,800,000 (%) KF1 T ZFRr 48,260,000 42,273,000 —f%
HE/N-IERENTY e

6.28 R LA LB T 15,397,000| (¥k) h T E 17,491,000 15,337,000 354

hvd ~ —_

6.30 | L REB NI AR—ILRAL 8,643,000 () EBETE 9,878,000 8617000 154
HREISE

6.30 [REFHENEERETISE - i - -

6.30 | B/l R TIENo. 5 5,200,000 (%) AF0T £/ 5,573,000 4858000 154

MKRAT—MERETLE




